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For this paper you must have:

A 12-page answer book.

Time allowed: 1 hour 30 minutes

Instructions

Use black ink or black ball-point pen.

Write the information required on the front of your answer book. The Examining Body for this
paper is AQA. The Paper Reference is HIS2E.

Answer two questions.

Answer Question 1 and either Question 2 or Question 3.

In answering the questions you must use your own knowledge and understanding of the
period.

Information

e  The maximum mark for this paper is 72.

e  The marks for questions are shown in brackets.

e There are 36 marks for each question.

e You will be marked on your ability to use good English, to organise information clearly and

to use specialist vocabulary where appropriate.

Advice

You are advised to spend about 45 minutes on each question.
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Answer Question 1 and either Question 2 or Question 3.

Study the following source material and then answer the questions which follow.

Source A Peter’s Great Embassy had given him the desire to modernise. Once he returned to
Moscow he at once sought to impose western ways on his subjects. Shortly afterwards,
Peter drew up plans for the new capital at St Petersburg under the supervision of an
Italian architect. This process of westernisation sped up during the first years of the

5 1700s. But when Russia went to war unprepared against Sweden, a basic lack of

resources, combined with poor military provision and administrative disorganization
made Russia an easy target. Peter was thus forced to increase the process of
modernisation, but the changes he introduced were patchy. As a consequence Russia’s
westernisation proved more uneven and shallow than might have been the case.

Adapted from The Tsars, Russia, Poland and the Ukraine, M RADY 1990
Source B Adapted from Peter the Great, SJ LEE, 1993
This source cannot be reproduced electronically for copyright reasons. Please e-mail

history(@aqa.org.uk and supply a postal address to receive a printed version, clearly
stating HIS2E.

Source C New customs would have to be adopted; Peter demanded that his nobles accept such
changes, and, by and large, they conformed. Were Russians really changed? Russia
appeared different, with its new industries, and a westernised elite. Although the nobles
wore their new clothes and shaved, this was conformity, not conversion. They lived in

5 St Petersburg but longed to return to Moscow.
Adapted from Peter the Great, ] SWIFT, 2000

(a) Use Sources A and B and your own knowledge.

Explain how far the views in Source A differ from those in Source B in relation to the
reasons for westernisation. (12 marks)

(b) Use Sources A, B and C and your own knowledge.

How successful was Peter the Great’s policy of Westernisation by 1725? (24 marks)



EITHER 2

OR

(a)
(b)

(a)
(b)

Explain why Peter launched two attacks to gain Azov in 1695 and 1696. (12 marks)

‘Peter the Great’s leadership was the most important reason for the success of his

foreign policy.’
Explain why you agree or disagree with this view. (24 marks)
Explain why Peter the Great promoted Russian industrial development. (12 marks)

‘The size of Russia was the most important factor limiting the success of Peter the
Great’s economic reforms.’
Explain why you agree or disagree with this view. (24 marks)

END OF QUESTIONS



There are no questions printed on this page

ACKNOWLEDGEMENT OF COPYRIGHT-HOLDERS AND PUBLISHERS

Permission to reproduce all copyright material has been applied for. In some cases efforts to contact copyright-holders
have been unsuccessful and AQA will be happy to rectify any omissions of acknowledgements in future papers if
notified.

Question 1 Source A: M RAY, The Tsars, Russia, Poland and the Ukraine, 1462—1725, Hodder & Stoughton, 1990.
Reproduced by permission of Hodder & Stoughton Ltd.

Question 1 Source B: S LEE, Peter the Great, Routledge, 1993

Question 1 Source C: J SWIFT, Peter the Great, Hodder & Stoughton, 2000. Reproduced by permission of Hodder &
Stoughton Ltd.

Copyright © 2007 AQA and its licensors. All rights reserved.





